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|1.4.7.5
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1.F.4 Standard Projection

(100) (110) (111)

~
~

(hkl) (hkI)

001

13



000
h0k0l0 h0k0|0 hlklll h2k2|2
hlklll h2k2|2

hoksly  hokoly  hykgly  hokol, a B 7y
hokolo a
hik,ly B hokol a
hokol, v hokolo a




[100] [010]

[001] (
(100)
(100) p o
T
h:k:l=a-n:b-n:c-n=acosp:bcosc:ccosz
hkl
010
(hlklll) (hlklll)
(hlklll) (h2k2|2)
(h2k2|2)
X
x.y) (hikily)
1 (h3ksls)
P ( 1, 1, 1)
( y1-(cos® & +cos? ) cosp  cosa),
a (hkly) (hkl) p
(hgksly)  (hk,l,)
1/(1+cosa) P,
P xy)
‘e [1-(cos® a +cos® B)]*
- 1+cosa
_ LUQIL’;
1+cosa J

15



7114

16



